AT 3
4. (a)
(b)
(c)
(d)
(e)
5. (a)
(b)

(c)
(d
6. (a)
(b)
(c)
(d
(e)
7. (a)
(b)
(c)
8. (a)
(b)

(c)
9. (a)
(b)

MgCl,
CaO
Cu(NO,),
AICI,
CaCo,

N~ o A
SheRIEH, HlRAls(H

BIESISH, SHA

qifed, TRESH, Hied qa AT

Trofyrm, oWt qer SRS
26 g

256 g

124 g

36.5 g

63 g

14 g

108 g

1260 g

0.375 Al
1.11 9

0.5 Al

32¢g
90¢g

10. 3.76 x 102 377
11. 6.022 x 102 3T

T 4

10. 80.006

11, $X=90% . $x=10%
12. YISl = 1, dcd 1 TH e 2l
13. THHM G©A: X =12, Y=14, 3HI o 2|



14.
15.
16.
17.
18.

@ F (b) F (T @ F
@ v (b) x () x (@ x
(@) x (b) x © v (@ x
(@) x (b) v () x (d x
(@) x (b) x () x @ v

T 8
1. (a) T =2200 m; faeemdd = 200 m.
2. (a) WA =Tel = 3Ed SM=2.00ms |

b) Ed T =1.90ms : 3Gd IT=0.952m s’
3 9d T =24 kmh’’

3.
T 1 T T =96 m
7. dM=20ms ; THT=2s
10. WMA=3.07kms
T 9
4. c
5. 2m s? 14000 N
6. -4N
7. (a) 35000 N
(b) 1.944 m s?
8. 2550 N el i T o fauwda fem #I
9. d
10. 200 N
11. Oms*
13. 3kgms!
14. 2.25m; 50 N
15. 10kgms'; 10kgms'; 5/3 m s
16. 500 kg m s!; 800 kg m s; 50 N
18. 40kgm s
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A2. 240N
A3. 2500 N
A4. 5 m s? 24000 kg m s'; 6000 N

I 10

3. 9.8N

12. Yeal W 9R 98 N A HgHT W 9K 16.3 N B

13.  Sifrehan =€ 122.5 m 941 el THT 10 s &1

14. 3AfH o1 =19.6 m s |

15. 3TfUehad HE = 80 m, ¢ foRemd™ = 0, a7 T I T T = 160 m |

16. TEETHYT T = 3.56 x 1022 N |

17. 4 s 9991, <l § 80 m =l

18. URfYH 9T =29.4m s, F9E =44.1m, 4 s T¥AM 718 IR ¥ 4.9 m T W gt o1 = 9
39.2 m T W A

21. U gF Sl

22. Uohe gd | feenfud I 1 SHM 350 g BN

T 11
2. I
4. 2104J
5. I
9. 9x10%J
10. 2000 J, 1000 J
1. A

14. 15kwh (‘gfe")

17. 208333.3dJ

18. () A
(i) TR
(iii) SROTHR
20. 20 kWh
AIT 12
7. 17.2m, 0.0172 m
8. 18.55
9. 6000
13. 11.47s

14. 22600 Hz
20. 1450 m s!
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